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(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 40 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    
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    (ii) iz'u Øekad 1 ls 40 rd oLrqfu"B ¼cgqfodYih;/fjDr LFkku dh iwfrZ/lgh-xyr½ iz'u gSaA izR;sd 
iz'u 1 vad dk gSA lgh lgh lgh lgh mÙkj viuh mÙkj&iqfLrdk eas fyf[k,A 

        Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-

false) type questions. Each question is of 1 mark. Write correct answer in 

your answer-book. 

fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh fodYi pqfu;s % 
Choose the correct alternatives of the following multiple choice type questions : 

1. vFkZ'kkL= dh HkkSfrd dY;k.k lEcU/kh ifjHkk"kk fdlus nh gS \ 1 

(A) ,Me fLeFk (B) ihVjlu 

(C) MkW0 ek'kZy (D) buesa ls dksbZ ugha 

Who has given the material welfare definition of economics ? 

(A) Adam Smith (B) Peterson 

(C) Dr. Marshall (D) None of these 

2. miHkksDrk lUrqyu dh voLFkk esa gksrk gS] tc og izkIr djrk gS % 1 

(A) vf/kdre vk; (B) vf/kdre gkfu 

(C) vf/kdre lUrqf"V (D) buesa ls dksbZ ugha 

Consumer attains equilibrium when he gets : 

(A) maximum income (B) maximum loss 

(C) maximum satisfaction (D) none of these 

3. ek¡x oØ dk <yku gksrk gS % 1 

(A) /kukRed (B) _.kkRed 

(C) OX-v{k ds lekukUrj (D) OY-v{k ds lekukUrj 

The slope of demand curve is : 

(A) positive (B) negative 

(C) parallel to OX-axis (D) parallel to OY-axis 
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4. tc ek¡x oØ OX-v{k ds lekukUrj gksxk] rks ek¡x dh yksp gksxh % 1 
(A) bdkbZ  (B) bdkbZ ls vf/kd 
(C) 'kwU;  (D) vuUr 
When the demand curve is parallel to OX-axis, then price elasticity of demand 

is : 

(A) Unity (B) More than unity 

(C) Zero  (D) Infinity 

5. fuEufyf[kr esa ls dkSu&lk dFku lgh gS \ 1 

(A) TP = AP × L (B) 
L

TP
AP =  

(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha 
Which of the following is correct statement ? 

(A) TP = AP × L (B) 
L

TP
AP =  

(C) Both (A) and (B) (D) None of these 

6. tc mRiknu dk Lrj 'kwU; gS] rks dqy ifjorZu'khy ykxr (TVC) gksxh % 1 
(A) dqy ykxr (TC) (B) 'kwU; 
(C) dqy ca/kh ykxr (TFC) (D) buesa ls dksbZ ugha 
When the level of output is zero, then total variable cost (TVC) is equal to : 
(A) Total Cost (TC) (B) Zero 

(C) Total Fixed Cost (TFC) (D) None of these 

7. iw.kZ izfr;ksfxrk dh voLFkk esa] QeZ gksrh gS % 1 
(A) dher ysus okyh (B) dher r; djus okyh 
(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha 
Under perfect competition, firm is : 

(A) Price taker (B) Price maker 

(C) Both (A) and (B) (D) None of these 

8. ,dkf/kdkj ds vUrxZr vkSlr vk; oØ % 1 
(A) uhps dh rjQ >qdh gksrh gS (B) OY-v{k ds lekukUrj gksrh gS 
(C) OX-v{k ds lekukUrj gksrh gS (D) buesa ls dksbZ ugha 
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Under monopoly average revenue curve is : 

(A) downward sloping (B) parallel to OY-axis 

(C) parallel to OX-axis (D) None of these 

9. fuEufyf[kr esa ls dkSu&lk lef"V pj gS \ 1 
(A) ek¡x dh yksp (B) ,d oLrq dh dher 
(C) miHkksDrk lUrqyu (D) jk"Vªh; vk; 
Which of the following is a macro variable ? 

(A) Elasticity of demand (B) Price of a commodity 

(C) Consumer equilibrium (D) National income 

10. nksgjh x.kuk ds QyLo:i jk"Vªh; vk; dk % 1 
(A) vR;f/kd vuqeku yx tkrk gS (B) vYi vuqeku yx tkrk gS 
(C) lgh vuqeku yx tkrk gS (D) mijksDr lHkh 
As a result of double counting national income is : 

(A) over estimated (B) under estimated 

(C) correctly estimated (D) All of the above 

11. fuEufyf[kr esa ls fdldks vfUre miHkksx O;; esa 'kkfey ughaughaughaugha fd;k tkrk \ 1 
(A) futh vfUre miHkksx O;; (B) ljdkjh vfUre miHkksx O;; 
(C) fuekZ.k ij O;; (D) buesa ls dksbZ ugha 
Which of the following is not included in final consumption expenditure ? 

(A) Private final consumption expenditure 

(B) Government final consumption expenditure 

(C) Expenditure on construction 

(D) None of these 

12. fuEufyf[kr esa ls eqnzk ds izkFkfed dk;Z dkSu&ls gSa \ 1 
(A) fofue; dk ek/;e (B) ewY; dh bdkbZ 
(C) (A) vkSj (B) nksuksa (D) ewY; dk gLrkarj.k 
What are the primary function of money in the following ? 

(A) Medium of exchange (B) Unit of value 

(C) Both (A) and (B) (D) Transfer of value 
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13. Hkkjrh; fjtoZ cSad (RBI) dh LFkkiuk fdl o"kZ esa gqbZ \ 1 
(A) 1905 esa (B) 1920 esa 
(C) 1935 esa (D) 1951 esa 
In which year the Reserve Bank of India (RBI) was established ? 
(A) 1905 (B) 1920 
(C) 1935 (D) 1951 

14. Hkqxrku 'ks"k esa vlUrqyu dh voLFkk esa % 1 
(A) Hkqxrku lUrqyu vkf/kD; esa gksrk gS (B) Hkqxrku lUrqyu ?kkVs esa gksrk gS 
(C) (A) vkSj (B) nksuksa (D) mijksDr esa ls dksbZ ugha 
Disequilibrium in balance payments means : 

(A) Surplus balance payments (B) Deficit balance of payments 

(C) Both (A) and (B) (D) none of these 

mfpr 'kCnksa ls mfpr 'kCnksa ls mfpr 'kCnksa ls mfpr 'kCnksa ls fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa % 

Fill in the blanks with appropriate words : 

15. tc dher ds c<+us ij iwfrZ c<+ tkrh gS] rks bls …………. dgrs gSaA ¼iwfrZ esa foLrkj] iwfrZ esa o`f)½ 1 

Increase in quantity supplied due to rise in price is called …………. .  

(extension of supply, increase of supply) 

16. tc dher ds ?kVus ls dqy O;; …………... gS] rks ek¡x bdkbZ vf/kd ykspnkj gksrh gSA  1 

¼c<+rk] ?kVrk½ 

Due to decrease in price total expenditure is ………….., the price elasticity of 

demand is more than unitary.    (increases, decreases) 

17. ,d rVLFkrk oØ ewy fcUnq dh vksj …………… gksrk gSA   ¼mUurksnj] urksnj½  1 

An indifference curve is …………… to the origin.   (concave, convex) 

18. ifjorZu'khy vuqikr dk fu;e ……………. esa ykxw gksrk gSA        ¼vYidky] nh?kZdky½  1 

Law of variable proportions is applicable in the period of ……………. .  

(short-run, long-run) 
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19. Hkwfe] chek] izcU/k vkfn ij fd;s x;s [kpZ dks ……………. dgrs gaSA  1 

¼fLFkj ykxr] ifjorZu'khy ykxr½ 

The expenditure on land, insurance, management etc. is called …………… . 

(fixed cost, variable cost) 

20. fo'o egkeUnh dk o"kZ ………………..  FkkA  (1929, 1936)  1 

Year of World's Great Depression was ……………  .  (1929, 1936) 

21. Nk=o`fÙk ……………. vk; gSA  ¼gLrkarj.k] okLrfod½  1 

Scholarship is ……………. income.     (Transfer, real) 

22. eqnzk esa …………… 'kkfey gksrs gaSA ¼dsoy flDds] djsalh vkSj cSad tek½ 1

……………. included in money.  (only coins, currency and bank deposits) 

23. lk[k xq.kd = ………….   








 tekxek¡

 tekudn

 tekudn

 tekxek¡
,    1 

Credit multiplier = …………….    








depositdemand

depositcash
,

depositcash

depositdemand
 

24. dsUt ds jkstxkj fl)kUr ds vuqlkj …………… ,d lkekU; voLFkk gSA 1 
 ¼viw.kZ jkstxkj lUrqyu] iw.kZ jkstxkj lUrqyu½ 

According to Keynes theory of employment ……………. is a normal situation. 

(less than full employment, full employment) 

25. dqy [kpZ – dqy izkfIr;k¡] m/kkj ds vfrfjDr = ……………. A  ¼vk; ?kkVk] jktdks"kh; ?kkVk½  1 

Total expenditure – Total receipts, other than borrowings = ……………. . 

 (Revenue deficit, Fiscal deficit) 

26. Hkqxrku 'ks"k ds nks ewy [kkrs ------------ gSaA  1 

¼pkyw [kkrk vkSj cpr [kkrk] pkyw [kkrk vkSj iw¡th [kkrk½ 

Two basic accounts of balance payments are ……………. . 

(Current account and Saving account, Current account and Capital account) 
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fuEufyf[kr dFku lghlghlghlgh gSa ;k xyrxyrxyrxyr] crkb, % 

State whether the following statements are true or false : 

27. vFkZ'kkL= esa ek¡x rFkk vko';drk 'kCnksa dk iz;ksx ,d&nwljs ds LFkku ij fd;k tkrk gSA 1 

The terms demand and wants are used interchangeably in economics. 

28. nw/k dh ek¡x csykspnkj gksrh gSA  1 

Demand for milk is inelastic. 

29. vkUrfjd cprsas rc izkIr gksrh gSa] tc lEiw.kZ m|ksx dk foLrkj gksrk gSA 1 

Internal economies arise when the entire industry expands. 

30. vkSlr ykxr oØ 'U' vkdkj dh gksrh gSA  1 

Average cost curve is 'U' shaped. 

31. iw.kZ izfr;ksfxrk esa oLrq,¡ le:i gksrh gSaaA  1 

Goods are homogeneous in perfect competition. 

32. ,dkf/kdkjh izfr;ksfxrk esa QeksZa ds m|ksx esa izfo"V gksus rFkk m|ksx NksM+us dh LorU=rk ugha gksrh gSA 1 

There is no free entry and exit of the firm in the industry under monopolistic 

competition. 

33. iw¡th ij C;kt ,d izokg gSA  1 

Interest on capital is a flow variable. 

34. o`)koLFkk isa'ku] jk"Vªh; vk; esa 'kkfey gksrh gSA  1 

Old age pension is included in national income. 

35. eqnzk fofue; ds ek/;e ds :i esa dk;Z djrh gSA 1 

Money act as a medium of exchange. 
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36. lhekUr cpr izo`fÙk (MPS) vkSj lhekUr miHkksx izo`fÙk (MPC) dk ;ksx ges'kk ,d gksrk gSA 1 

The sum of marginal propensity to save (MPS) and marginal propensity to 

consume (MPC) is always one. 

37. lsok dj ,d vizR;{k dj ugha gSA 1 

Service tax is not an indirect tax. 

38. Hkqxrku 'ks"k] O;kikj 'ks"k ls foLr`r /kkj.kk gSA 1 

Balance of payment is a broader concept than balance of trade. 

39. Hkkjr esa] fjtoZ cSad vkWQ bf.M;k }kjk flDds tkjh fd, tkrs gaSA 1 

In India, Reserve Bank of India issues the coins. 

40. ldy ?kjsyw mRikn esa iw¡thxr ykHk rFkk Nk=o`fÙk 'kkfey gksrh gSA 1 

Gross domestic product includes capital gain and scholarships. 

S 


